






















a) 𝑦 = −√𝑥 

 

b) 𝑥𝑦 − 2𝑥 − 3𝑦 + 6 = 0 

Manteniendo la ecuación: 

 

Despejando enterminos de y: 

𝑦 =
2𝑥 − 6

𝑥 − 3
=

2 ∗ (𝑥 − 3)

𝑥 − 3
; 𝑥 ≠ 3 −→   𝑦 = 2 

 

 



c) 𝑦 < 𝑥2 

 

d) 2 < |𝑥 − 4| ≤ 12 falta especificar y 

 

 

 

 

 

 

 

 

 

 



e) 1 < 𝑥 < 4 ∧
𝑥

2
+ (

𝑦

−3
) = 1 

 

 

 

 

 

 

 

 

 

  



f) 
𝑥2

9
+

𝑦2

4
< 1 ∧  𝑦 ≥ 3𝑥 − 2 

Primero gráfico: 

𝑦 ≥ 3𝑥 − 2 

 



 

Luego grafico: 

𝑥2

9
+

𝑦2

4
< 1 

 

Luego finalmente su intercepción: 
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